CLEARSPAR GHANNEL
(STEP 2)

12" GRATING PAMELS
(STEP 3)

7 1/4" GRATING PANELS
(STEP 4)

RAJLING CHANKEL
{STEP 6)

“FLOOR ARGLES
(STEP 1)

2y

GLEAR LENGTH
at 36" HEIGHT

—®

i -
®

UNIT WIDTHS 4t g ! 'G'
24" o HEIGHT ~ LENBTH  HEIGKT  LENGTH
924X04  330X04 427 34" e 5t g
92405 - 930X05 54" 40" ar 1" B! 3"
92406 930X08 65" Ag" g1 grig”
924507 930X07 " 52" 10t 1 740
92408 S830X08 ag" 59" i1 on PR
924X09  930X09 100" Bo" 12t 0" ar ¢»
924410 830X10 Ire m 211" grign
d24X11 930K 123" i 13 gt g

#324 Ladder Treads are 23-3/4" wide and 7-1/4" deep,
#930 Ladder Treads are 28-3/4" wide and 7-1/4" deep.
Overall width of #924 Ladders is 28",

Overall width of #3930 Ladders is 35",

Ladder inclines are at 75° to the horizontal plane,
HOTE - A1l Ladder feet must be anchored to the floor,

4|8|O COPYRIGHT 1979 BY EQUIPTO AURORA,ILL. ALL RIGHTS RESERVED

FLOOR ANGLE
9552

STEP
STEP
STEP

STEP 4, ASSEMBLE TREAD TO RISER PAMELS
STEP 5. ASSEMBLE DIAGONAL BRACES T¢

STEP 6, ASSEMBLE RAILING TO RISER

STEP 7. ASSEMBLE HANDRAILS TO

MOTE: GLEAR AREA OF OBSTRUCTIONS BEFORE NOTE:
STARTING CROSSOVER ASSEMBLY., e

RISER PANEL

marked "D"

AURORA, ILLINOIS 580507

Bolt thru hole

LADDER ASSEMBLY PROCEDURE

ASSEMBLY INSTRUCTIONS

FOR

CLEARSPAN LADDER CROSSOVER

1. ASSEMBLE FLOOR ANGLES TO PISER
PANELS.

2. ASSEMBLE CLEARSPAN CHANMEL TO
RISER PANELS,

3. ASSEMBLE TREAD TO CLEARSPAN
CHANKEL,

RISER PANELS.
PANELS,
RAILING CHANNELS.

SEE OPPOSITE SIOF OF DRAWING
FOR STEPS 5,6, & 7.

5/16" x 5/8" Hex Head
folt and Locknut (4) T
NOTE; TIGHTEN BOLTS |

i\ 12" GRATING PANEL
16141 = 30" WIDE

16142 = 24" ¥IDE

10002

CLEARSPAN CHANKEL

41810

- SECURELY

NOTE: CLEARSPAN LADDER CROSSOVER 1s to
be anchored to floor but not until
the CROSSOVER 1s completely assembled.
Floor anchors are to be furnished by
others FLOGR ANGLES nay be installed
inside or outside of the RISER PANELS. ‘
Inside is shown. &%

Bolt thru holes 3 & 4 with
3/8" x 3/4" Hex Head Bolt,
Lockwasher, and Nut,

{2 per Angle)

ASSEMBLING FLOOR ANGLES
TO RISER PANELS

CLEARSPAN CHANREL\\\

¥ Attach CLEARSPAN CHANNEL to
RISER PANELS with 3/8" x 3/4"

”‘/_\RISER PANELS /—\_"

Hex Head Bolt, Lockwasher and
Nut {5 Bolts per end)

NOTE: Assembls One (1) R.H. &
One {1) L.K. unit as shown
before going 1o STEP 3,

@ ASSEMBLING CLEARSPAN CHANNEL

TO RISER PANELS

SEE OPPOSITE SIDE OF THIS DRAWING

////qug“gﬁfzfns PANELS (4 REQ'D.)

- v
b
T

NN

NOTE:

After Assembling 1 R.H. & 1
L.H. Upright unit attach all
Four {4) 12" Grating Panels
as shown ahove,

ASSEMBL!NG TREAD

5/16" x 5/8" Hex Head
Bolt and Locknut
(4 per Panel)

RISER PANELS

A1

TO CLEARSPAN CHANNEL

7 1/4" GRATING PANEL

16361 = 30" WilE
16362 = 24" WilE

Ladder Tread Assembly

3/8" x 3/4" Hex Head Boit,
Lockwasher and Nut (4 per tread)

S0TE: Locate hole #4 on RISER PANEL
™ level Tread Assewbly and bolt.

ASSEMBLING TREAD

RISER PAHEt:;74N\
LADDER TREAD ASSEMBLY — °
-—@

TO RISER PANELS

53951

41810 |




:  The Greatest Name in Storage ard Shop Equipment

24" Wide Unit BRACES are
33 23/32"ong {6492}
30" Wide Unit BRACES are
38 1/8" long. (5493)

N

A

N
X
R

UHITS XO7 THRU X11
ASSEMBLY PRECAUTION UNITS X04 THUR X0B 7
DIAGONAL BRACES MUST BE ATTACHED TO

LADDER TO PROVIDE STABILITY. FAILURE
TO ATTACH THE BRACES WiLL RESULT IN

AN UNSAFE UNIT,

D1AGONAL BRACES

i
,ggz?’@
..

BACK VIEW OF LADDER AND BRACING LAYOUT

HOTE: Bolt DIAGONAL BRACES to RISER
PANELS in holes at LADDER TREAD
(12" C.C.) as shown above,
Top tread shown above is a 12"
* GRATING PANEL,

ASSEMBLING DIAGONAL BRAGES
TO RISER PANELS

DIAGONAL BRACE
(Either 4 or 8 per unit)

AN

Wi

ROTE: After DIAGOMAL BRACES are
bolted in place bolt BRACES
in the middie as shown above,

225 SOUTH HIGHLAND AVENUE
LURCORA, ILLINOIS E0507
Ph. (312 853-1000

5/16" x 5/8" Hex Head
Bolt and Locknut
(1 per set of BRACES)

S

RAILING CHANNEL

///5/18” x 3/4" Truss Head Mach, Screw
and Locknut {2 per Bracket)

41810

NOTE: Assemble railing to unit
only after treads have RAILING ASSEMBLY PROCEDHRE

been installed. STEP 1. FASTEN UPPER RAILING BRACKETS
70 RAILING CHANNELS AS SHOWN
ON DETAIL

when fastening lower railing asseshly,

to unit,

LONER RAILING.
BRACKET (2) 7685

!
v |
RAILING CHANNEL

ASSEMBLING RAILING
TO RISER PANELS

SEE OPPOSITE SIDE OF THIS DRAWING

LOWER END
OF RAILING

//‘//J/@“ \

};/8" x 3/4" Hex Head Bolt,
Lockwasher and Nut {1)

into hole in plate. Inseri blade of
screwdriver into remaining lip and I

e STEP 2, FASTEN LONER RAILING BRACKETS
UPPER RAILING T0 RMUHG‘HAHREL AS SHOWN
BRACKET (2) ON DETALL (Bb)
7684 STEP 3, ATTACH UPPER END OF THE RAILING
/-5/16" x 3/4" Truss Head Mach CHANNEL. TO THE RISER PANEL,
rew and Locknut (2) : BOLTING THROUGH THE UPPER
S RAILING BRACKET AND THE RISER.
o FASTEN THE LOWER END OF THE
/ RAILING CHANNEL TO THE RISER
" NOTE: ATTACH THE UFPER END PANEL, BOLTING THROUGH THE CPTIVE T~
adind LOWER RAILING BRACKET AND THE
OF THE RAILING BEFORE 21SER  SEE DETAIL CLAMP PLATE %
THE BOTTOM END. . 614 SIS
, CAPTIVE NUT ASSEMBLY
UPPER EN Insert ane 1ip of nut retai
Oi ;ilflgﬁ S=-3/8" x 3/4" Hex Head Bolt neers tne ip O mit retainar
NOTE: Some tread bolts will have /Y and Locknut (1 per Lower Brk't)
to be removed and re installed o push in and down to complete nut

HANDRAILS
12454 (UPPER) \
12455 (LOWER) \\

T

CLAMP PLATE

Handrails and Railing
Channel Assembly

Insert CLAMP PLATE into RAILING
as shown, Fasten HANGRAILS with
/4" x 1 1/4" Truss Head Bolt
and Captive Nut, After asseshly
attach CAP as shown,

#10 x 1/2* Pan Head Screw
{2 per Cap)

L

RAILING and
- TGP CAP ASSEMBLY

CAP

10202 TOP END OF RAILING CHANNEL

| ;
ASSEMBLING HANDRAILS

TO RAILING CHANNELS
- 41810




